Section : Gensral Knowlsdge

Q1 11 which state is Madai festival celebrated?
Ans X 1. Jharkhand

W2 Chbhattisgarh

/< 3 Jammu and Kashmir

& 4. Odisha
Question 1D : 5008471028
Status : Anawered
Chosen Optlon : 1
Q.2 As per Economic Survey 2017-18. the service sector contribuiad to India’s GVA (Gross Value Added) in
2017-18.

Ane of 1. 552%
X 2 452%
X 3 252%
X 4. 0520

Question ID : 5096471030
Status : Anawersed
Chosen Optlon : 1

Q.3 The President has the power to promulgate ordinances under  of the Constitution of India.
Ans of 1. Article 123
& 2. Article 153
X 3 Article 113
X 4. Article 130

Question |ID : 5096471027
Status : Answered
Chosen Optlon : 1

Q.4 With wiwm bas Uie Governmen of Tudia entered into i agresment for fexible fnacing ammgement o accelsrate
research towards early devslopment of biopharmaceuticals under National Blopharma Mission?

Ans 3 1. International Development Association
# 2. Asian Development Bank

< 3. New Development Bank

v 4. World Bank
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Question ID ; 5096471021
Status : Answered
Chosen Option : 1

Q.5 Indu Malhotra recently boeame the woman lawyer to be diveetly clovated from the Darte the Supromse Court as
ajndge.

Ans X 1. sixth
v 2. first
& 3 tenth
& 4. second

Cuastion 1D ; 5098471022
Status : Answered
Chosen Optlon : 2

Q.8 Which of the following hockey players won the Rajiv Gandhi Khel Ratna award in 20172
Ans X 1. Rupinder Pal Singh

& 2 Sandeep Singh

o 3. Sardara Singh

/& 4. Manpreet Singh

Question ID : 5096471023
Status : Answered
Chosen Option : 1

Q7 Which of the following is correct?

Ans 1.

The total number of Fundamental Duties provided by Article 51A of the Constitution of India is L5,

X 2

The total number of Tundamental Duties provided by Article 5 1A of the Constitution of India is 8.

/< 3

The total number of Fundamental Duties provided by Article 5 1A of the Constitution of Tadia is 19.

v

The total number of Fundamental Duties provided by Article 51 A of the Constitution of India is L1.

Question |ID : 5096471026
Status : Answerad
Chosen Optlon : 4

Q8 Tt takes  full grown trees to make one tonne of paper.
Ane S4B

w217

X3 0

X425

Question D : 5096471024
Status : Answared
Chosen Optlon : 2

Q9 Who among the following introduced the ‘Doctrine of Lapse’?
Ans X 1. Lord Canning
/< 2 Lord Ripon
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v 3 Tord Dalhousie
/< 4. Warren Hastings

Question 1D : 5096471029
Status : Answersd
Chosen Option : 3

Q.1 Which of the tollowing is the basic vuit of inheritznes in living crganisms which controls the transter of hersditary
0 clumwledstes Dom parenis o oTspring?

Ans  of 1. Gene
# 2 Chromosome
X 3 DNA
X< 4 Ccell

Question ID : 5006471025
Status ; Answered
Chosen Optlon : 1

Section : General Intalligence

Q.1 Select the vption that is relaled (o the hird term in the same way as e second term is 1edated o (e Orst term:
ACEG-.ZXVT .BDFH:?

Ans of 1. YWUS

X2 YWTS

< & SUWY

4 YVUS

Question D : 5096471036
Status : Answersd
Chosen Optlon : 2

Q2 Select the option that is different from the other three.
Ans o 1. JKMPT

X 2 DEGIN

X 8 HIKNR

v 4 FGIKP

Question ID : 3086471032
Status : Answered
Chosen Option : 4

Q3 :Flabby’ is related to “Toned” in the same way as “Weak® is related to:
Ans O 1. Sluggish

X 2 Week

X 3. Rigid

v 4 Robust

Question 1D : 5096471031
Status : Answared
Chosen Option : 4

Q4 Select the number that is different from the other three numbers.
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Ans 1. 9
X213
<323
X417

Question ID : 5096471045
Status : Answared
Chosen Option : 1

Q.5 Choose the option that will correctly replace the question mark (7) in the below number series.

15,35, 63,72, 143
Ans  C 1. 109
X2 121
W 2 99
X 4 39

Question |ID ; 3096471033
Status : Answersd
GChosen Option : 3

Q.8 Ifall the vowels are romoved from the English alphabet, which letter would be ninth to the right of the sixth letter from
the Jefiy

Ans 1 [
X2T
K37
vis

Question ID ; 3096471043
Status : Answered
Chosen Optlon : 4

Q7 Select the number that is different from the other three options.
Ans of 1. 9

<213

311

K47

Question ID : 5096471037
Status : Angwered
Chosen Option : 1

Q.8 Five children are <landing b a single ueue, one aller another, fwing the slage. B 1s neares! o e stage. S is slanding
ahead of P and is not before or after T. Q is just after ® and T is not standing near Q). Who is at the end of the line?

Ans X' 1. P
WaT
x5 Q
K4R

Quastion 1D : 5096471035
Status : Answered
Chosen Optlon : 2

Qs
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statements.

Statcments:

A All tables are chairs.
0. All chairs are racks.

Conclusions:
1. All racks ave tables.
2. All chairs are tables.

Ans  5C 1. Both the conclusions follow

< 2 Onlv conclusion 2 follows

o 2 Neither conclusion 1 nor 2 follows
X A Only conclusion 1 follows

Given helow are Twa statemaents and twa concliusiona. Consider these statemenrs fa he tnie even if they seem factally
ahanrd. Trend the conchisions and then decide which of the given conclisions Togically follow(s) from the given

Questlon |ID : 5086471044
Status : Answerad
Chosen Option : 3

Tiod 513t

Ans 1. 84
X217
<2110
W4 169

Q.1 Select the opticn thet is related to the thizd pumber in the same wey as the second number is relatac o the first number.
0

Cuestion 1D ; 3096471042
Status : Answersad
GChosen Option : 4

Ans  of 1. Tough : Tender

X 4. Wimpy : Feeble

01'1 Identify the word-pair that is different from the other three.

Z 2. Dynamic : Energetic

#< 3. Authoritarian : Dominating

Questlon ID : 5096471041
Status : Answered
Chosen Option : 1

2
ADMIBATICON

Ans X' 1. ADROIT
v 2. ADMIRE
< 3 RANDOM
< 4 DOMAIN

Q.1 From the given options, select the word that CANNOT be formed using the letters of the given word.

Questlon ID : 5086471039
Status : Answered
Chosen Option : 2

a1
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3  Tointing te a photograph, Somen said, “His mother is my mother-in-law’s son’s only sister. “How i3 Somen related fo
the paraon in the photograph?

Ans X 1. Brother-in-law
& 2 Son
' 2. Father
/< 4. Himself

Giuestion 1D : 5096471034
Status : Answersd
Chosen Optlon : 2

Q.1 Inaceraineode language *ADMIT iz written a3 “YVMOQF" How will *TRAIN® be written in the same code langnage?
4

Ans O 1. FHVQM
X 2 FHYQM
o 3. FHYQL
X 4. FIYQM

Questlon D : 5096471040
Status : Answered
Chogen Option : 3

Q.1 1f the Sifth day of a month is 4 days earlier to I'riday, what day will it be on the nwenty-first day of that month?
L]

Ans of 1. Wednesday

/< 2. Friday
X 3 Monday
< 4. Tuesday
Cluestion 1D : 5008471038
Status : Answered
Chosen Optlon : 1
Sectlon : General Aptitude

Q.1
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Study the following pie charts and answer the question.

Total Number of Students = 3,200

Management
20%

Commerce
17%

|_Engineering
6%

Total Number of Girls = 1,800

Management
1%

Cammerce
24%

Engineering
B%

What is the ratio of the total number of girls in the Engineering and

Science disciplines to the total number of bovs in Arts, Engineering
and Science?

as off1. G 11

K211:10

K311:9

K4 10:11

Question ID : 5096471060
Status : Answersd
Chosen Option : 1

Q_z The ralio betwzer he number ol stodenl: in class Tand TTis 8 0 5 that betwzer the pumber ol studenls inoelass THape TIT

i= 3 4 and that between the aumber of smdenrs (a elazs 10 and IV is 7 ¢ §. If the differcnce bamwaca the sumber of
students in class ILand IV is 33, then the number of students i class I is:

Ans }(1.63
~ 290
'3 84
X476
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Question ID ; 5096471052
Status : Answered
Ghosen Option : 3

Q.3 A solid metallic right civeular cylinder of hase diameter 18 cm and height 2 om is melted and recast into a right circular
coue of helght three-times that of the cylindsr Che curved suface area of the cone will be:
(Usea—3.12)

Ans X1 2548 cm?
v'2 2515 cm?
3 2504 cm?
X4 2486 om?

Question D ; 3096471057
Status : Answered
Chosen Option : 2

QL4 A 2401 long Gain, moving at an averags speed of 34 kn'h, crosses & plalfonn in 30 5. A mm crosses Lie sams
platform in 120 s Whiat is (he speed (i kovh) of the man?

Ans o 1. 6.3
K272
Xas57
X468

Question ID : 5096471058
Status : Answerad
Chosen Option : 1

5 s
= lf% — (V75++/108 —v/147) = a + bv/3, then the value of VAa— 7b will be:

Ane X 1.7
K26
vag
F

Question |ID : 5098471048
Status : Anawered
Chosen Optlon : 3

Qe
4 7415 2
The value of EOfE(E"T"E) f (21_‘5 3) 3
e 0 + = is:
1I+5 17 9

Ans o 1.
5 2
X 3
< a

b

W e e

Question ID : 5086471048
Status : Answered
Chosen Option : 1

QLT Aaita borvowed two equal sums at the baginning of two suceessive vears at 10% compoeund lntersst. At the end of the
zecond vear, she paid 3 12,474 to settls her debts. How much did she borrow cach year?
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Ans X" 1. T 4,800
/< 2. ¥ 5,000
W 3 ¥ 5,400
X 4. T 5,600

Question |ID : 3096471058
Status : Answered
Ghosen Option : 3

Q.8 Porsos A solda carto B ata loss of 28%. B spoat 2,520 on it3 repair and sold it to € for 7 70,875 and thus carned a
profit of 12.5%, How wuch bad A paid to buy e car?

Ans  of 1. F 84,000
X 2. T 63,000
< 3. 75,000
X 4. 60,480

Questlon ID : 5096471054
Status : Answered
Chosen Option : 1

Q.9 A trader marks lus goods such that he sams & profit of 30% on its cost, He then sells it by offering a discountof x %t an
its marked price. If his actual profit i3 2 85%. then the value of v dw:

Ans o1 |55
X2 12
X 3 15
X4 125

Question ID : 50864710565
Status : Answered
Chosen Option : 1

Q.1 Let ¥ bethe grearest number such that when it divides 5892 6105 and 6531, the remainder in sach cas= is ¥ . When
0 (x+¥) s divided by 33, then the remsinder will be:

Ane X1 23
<219
W3 24
425

Quastion D : 5096471049
Status : Answered
Chosen Optlon : 3

Q.1 The income of & is 20% mers than that of B, and the izcome of C is 10?4 less thac the sum ot the incames of A and B.
{ Dthe income of Cis T 19,800, then by what percentage is the income of C more than the income of B?

Ans  of 1. 0894
< 2 88%
X 3 959
X 4. 96%

Questlon ID : 5096471050
Status : Answared
Chogen Option : 1

QA
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2\ qumof ¥ ,690 is divided among .\ B and € such thaté of A, E of B and % of C are equal. What is the differance
botween A and O7 ¥

Ans X 1. Z 550
X 2 T 860
< 3 380
o 4. T 880

Questlon 1D : 5096471051
Status : Answered
Chosen QOption : 4

Q.1 lap A can fill an empty tank in 10 h while 12p B can empty a fully-filled up tank (0 12 b, Lap A 15 tumed on first. Afrer
3 2 hours. Iap B is also turn=d on. What will the total time [in houss) taken to fill the tank bet?

Ans X' 1. 56
X252
W2 50
X 4 48

Question ID ; 3086471059
Status : Answerad
Chosen Option : 3

Q.1 The avemags score of a batsmar for a cortain number of aings was £2 mns. In the next five innings he seorcd 20, 35,
4 25 10and 40 mins and his average for all the innings eame down by 5. How many innings did he play in all?

Ans 5 1. |2
vz 16
X3 1S
X414

Question |ID ; 3096471053
Status ;. Answered
Chosen Optlon : 2

a1

5 '_I‘he value of 1.331x219x1.24 _z.axiﬁ X
16.5%0.121x7.3x0.62 3181
Ans 3¢ 1. .24
X2 036
V'3 048
X4 0.18

Question ID : 5086471047
Status : Answered
Chogen Option : 3

Section : General English

Q.1 Tnthe following senterce. four words or phrases have heen underlined. Gne of then is incorrecr. Chonse the
INCORREC L word or phrese from the given options.

If the water level in Perivar rises alarmingly, more people from the banke of Perivar in Ernaeulnm District were
evacualed,

Ans X 1. more people
W 2. were evacuated
< 3 alarmingly

/< 4. from the banks
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Question D : 5096471078
Status : Anawersd
Chosen Optlon : 2

Q.2 Select the option that is NOT an antonym of another word by way of adding the prefix ‘im-.

Ans > 1. impassive
/< 2. impertinent
/< 3 imperceptible

o 4. impression

Question ID : 5096471074
Status : Answersd
Chosen Optlon : 4

Q3 Select the correct passive form of the given sentence.

Somebody has stolen the manhole cover in our lane.
Ans o 1. The manhole cover in our lane has been stolen.
#< 2 The manhole cover in our lane is being stolen.

#< 3. The manhole cover in our lane had been stolen.
#< 4. Our lane in the manhole cover has been stolen.

Question 1D : 5096471069
Status : Answered
Chosen Optlon : 1

Q4 Sslect the most appropriate option to fill in the blank.

She didn’t buy the second-hand study table because top was chipped off.

Ans of 1 jtg
< 2 that
P
< 4 her

Question ID : 5096471085
Status : Answered
Chosen Optlon : 1

Q5 gSelect the most appropriate synonym of the given word.

DURBIOUS

Ans X 1. Assured
& 2. Convinced
' 2 Doubtful
< 4. Certain

Cluestion D : 5096471071
Status : Answerad
Chosen Optlon : 3

Q.6
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Select the most appropriate option to fill in the blank.

I didn’t speak French, I managed to make myself understood.
Ans  F 1. Even though
< 2. Whether
/< 3. In spite of
< 4 Incase

Question ID : 5086471068
Status : Answersd
Chosen Option : 1

Q.7 select the most appropriate option to fill in the blank.

There is heavy fog at the Delhi airport. The plans. | has been diverted.
Ans 1. still

v 2. therefore

X 2 because

& 4. although

Question ID : 5096471067
Status : Answered
Chosen Option : 2

Q8 Select the most appropriate synonym of the given word.

RECIPROCATE
Ans X 1. Remind
/< 2. Receive
& 3. Remember
4 Respond

Queetion ID : 3096471072
Status : Answered
Chosen Optlon : 3

Q9 Select the most appropriate option to fill in the blank.

Iwas exhausted last night after driving, soI wentto bed __ than usual.
Ans O 1. early

& 2 earliest

W earlier

< 4. as early

Question D : 5096471063
Status : Answersd
Chosen Option : 3

Q&‘ Select the wrongly spelt word.

Ans S 4. germinate
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& 2. geometry
X 3. generalise

o 4. geniune

Question ID : 5086471076
Status : Answered
Choeen Option : 4

01-1 Select the most appropriate option to fill in the blank.

Assoonashe  home, he sits and talks to his children asking them about their day.
Ane 1. is coming
/< 2 came
o 3. comes

/< 4. has come

Question 1D : 5096471061
Status : Answared
Chosen Option : 3

Q.1 Inthe following santence, Tour words or phrases have been underlined. One ofthem is incorrect. Chooze the
2 INCORREC] word or phrass from the given options.

In India most people wears both their traditioral clothes and western dresses.
Ans X 1. Tn India
& 2 their
< 3 western
W 4. wears

Question 1D : 5098471077
Status : Answered
Chosen Optlon : 2

Q1 Selecr the most appropriate cirect form of the given ssntence.
3

Addressing the students, the professor said that it gave him greadl pleasure (0 be lnteracting with hem.

Ans 1.

Addressing the students, the professor said, “It gives me great pleasure to be interacting with vou.”

X~ 2

Addressing the students, the professor said. “Tt gave him great pleasure to be interacting with them.”

< 3.

Addressing the students, the professor said. It gives him great pleasure 1o be interacting with vou.”

< 4

Addressing the students, the professor said, “It has given ma great pleasure 1o be interacting with vou.”

Question D : 3086471080
Status : Answered
Chosen Optlon : 1

a1

s Select the most appropriate indirect form of the given sentence.

He wrote, “It is time we thought about settling this deal.”

Ans o 1.
He wrote that it was time they thought about settling that deal.
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< 2
He wrote that it was time we thought about settling that deal.

/< 3. He wrote that it is time we thought about settling this deal.

< 4
He wrote that that is time they thought about settling that deal.

Questlon 1D : 5086471079
Status : Answerad
Chosen QOption : 1

Q-s“ Select the most appropriate option to fill in the blank.

The flat  isvery nice but the entrance to the colony is crowded and dirty.
Ans 1. yourself

# 2. himself

W 3. itself

X 4 oneself

Questlon ID : 5096471066
Status : Answered
Chosen Option : 3

Q.1 select the most approprizte option to fill in the blank.
]

The old Weem trae which i oar eompenind Tor fifty years suddenly crashad to the gronnd last night.

Ans  of 1. had stood
< 2. has stood
/< 3. is standing
& 4 stands

Questlon ID : 5096471062
Status : Answersd
Chosen Option : 1

°7;1 Select the most appropriate antonym of the given word.

OBSTRUCTED
Ans of 1. Unhindered
X 2 Closed

X 3. Confused
/< 4. Blocked

Question ID : 5096471073
Status : Answerad
Choeen Option : 1

Q1 Select the correctly spelt word.
Ans X 1. comission

& 2 commision

3 commission

#< 4. comision
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Questlon ID : 50964710756
Status : Answered
Chosen Option : 3

Ans X' 1.
X~ 2
X 3

o a

0.91 Select the correct active form of the given sentence.

If he is elected by people in the next election, he will be greatly surprised.
If people are electing him in the next election, he is greatly surprised.
If he elected the people in the next election, he will be greatly surprised.
If people elected him in the next election, he will be greatly surprised.

If people elect him in the next election, he will be greatly surprised.

Questlon 1D : 5096471070
Status : Answered
Chosen Option : 4

Ans  J 1. new green cotton
#< 2. new cotton green
/< 3. green cotton new

x 4. cotton green new

“';2 Select the most appropriate option to fill in the blank.

She looked very graceful in her

Question ID : 5096471084
Status : Answersd
Chosen Optlon : 1

Section : Discipline

2x—by+32=7
X +4y—-2z=3
2x+3y+z=2

Q.1 The approximate solution of the svstem of simultansous equations

bv applying Gauss-Seidel method one time (using initial approximationes x — 0,.v — 0,z — 0 ) will be;

Ans %1 x =232,y =1.245z=—3.157

X2 x—=125y=—-2573,z=-3.135
X8 x=245y=-—17252=—-3.565
W4 x=35y=—0.125z=—4625

Questlon ID : 5086471140
Status : Answered
Chosen Option : 4

Ans of 1y =c,x+e,xt

2 - i s x o 5 iim &
QL2 T conrtion of ditferential aquation ¥2 d—‘: - .!.x;—" + 9y
¥ o

L where oy and ¢, are arhirary constanrs,
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X2 y=clogx+c,x
KL y=c;itex

Xay=cx?+cx°

Questlon ID : 5096471125
Status : Answared
Chogen Option : 1

Q3 When a ferromagnetic material is heated above the curie temperature, it becomes:
Ans o 1. paramagnetic material

/< 2. non-magnetic material

& 3. diamagnetic material

X 4. strongly charged

Question ID : 5096471109
Status : Answeared
Chosen Option : 2

% xS =,
The value of lim —— 1is;
x—2 3x—6

Cluestion 1D : 5008471122
Status : Anawered
Chosen Optlon : 2

Q.5 Iuadislectric, the displaczment vectar D, the polarisation vector P and the slectric tield vector E arz related by the
expressiom

Ans 1. D—ggP=¢gE
<2 D-E=¢gP
W3 D-P=gE
X4 E-P=gD

Quastion D : 5006471104
Status ;: Answersd
Chosen Option : 3

Q.8 1wo sources of moncchromatic light are sad to be ccharent, if lizht waves produced by them have the same:
Ans o 1. wavelength and constant phase difference

& 2 wavelength only

X 3. amplitude and same wavelength

/< 4. amplitude only

Questlon ID : 5096471067
Status : Answersd



Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook

Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook


I Chosen Option ; 1

& 2. Cylindrical wavefront only
« 3. Plane wavefront only
# 4. Spherical wavefront only

Q.7 Which of the following incident light wavefronts is most suitable for obhserving a single slit diffraction pattem?

Ans X 1. Either a cylindrical waveftont or a spherical wavefront

Question ID : 5096471088
Status : Answered
Chosen Option : 1

de  dy  dz

Xax? +y=c.x*+z2*=0¢

Q8 The general solution szz}, = willbe wherec, and ¢, are arbirrary constants.
A 13?2 —yl=c v -2 =0,

R2Zx Yy =2 2 =1

X322 3y =, 71X b2 =¢,

Question ID : 5096471124
Status : Answered
Chosen Option : 1

Ans X' 1. 4 bounded function

3. not differentiable at origin
& 4. differentiable for all Z

Q9 For a complex variable Z = x + iy, function £(Z) will be a constant function, if f is:

'., 2. a bounded function that is differentiable for all Z

Question ID : 5096471118
Status : Anawersed
Chosen Optlon : 2

Tn a Frearel's hiprism senip, monochramatie light of wavalength 550 nm is»
serees, O inbrodueiog o thio sheel of inusparer! malerial of thicko

efiactive index of the transparent material is:

Ans 1. 1.7
w253
X314
X416

13ed ta ahrain interfzrence fringas on the
1 mivrons io the path of one of e inlecfering
besms, e cenlml bioge is shulled Grough dislance egual w lbe spacing belween suecessive bright fringes, Then, the

Question 1D : 5098471082
Status : Answered
Chosen Optlon : 3

1 will be:

Ane 10w/ 2
x24Ty
Vs

Q.1 asingle slit diffmerion patern, the intensity of the principal maxinmm i3 Ty, On denbling the slic widrh, its intensity
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Questlon ID : 5096471093
Status : Answerad
Chosen Option : 2

Q.1 It a liguic drop is introduced betwsen the plano-convex lens and the glass plate in a Newton's rings experimental setup,
2  then the interference fringe pattern will:

Ans X 1. expand
/< 2 change from circular fringes into straight line fringes
v 2 shrink

/< 4. remain the same

Question D : 50098471080
Status ; Answered
Chosen Cptlon : 2

Q.1 X wvs are produced when o tacgel o suitable nteris! element of high alowmic mass 15 bomburded by o beuwm of List
3 woving and bigh enzrgy pacticles such s

Ans  O5C 1. peutrons
o 2 electrons
/< 3. protons

/< 4. photons

Cluestion D : 5096471035
Status ; Answered
Chosen Optlon : 1

Q.1 The speed of a fast moving perticle, whose total energy is twice the mass energy of the particls at rest, is nsarly;

4

Ans X 1. 0.89 ¢
X 2086¢
W3 087¢
X4 088c

Question 1D : 5006471106
Siatus | Answered
Chosen Option : 4

Q.1 The ability of an optical instrument by which it can form separats images of two close objeets is known as:

5

Ans 3 1. magnifying power
o 2. resolving power
< 3. optical power

/< 4. dispersive power

Question 1D ; 3096471105
Status : Answerad
GChosen Option : 2

a1 . sugar solution in a tube of length 20 cm, produces optical rotation of 1 3" Lhe sugar selution iz diluted o one-third of
it provions concentration. If the dilued salution (3 centained in g ube of leagrh 20 cm, the optical rotation will be

Ans K 1. § 8¢

W2 650
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/5 3 55°
X4 750

Question |ID : 5096471107
Status : Answared
Chosen Option : 2

T The length of the curve x = ¢,y = g?tz., 0<=t<1 will be:
M 2% 1 wits

# 2 3% — 2 ynits

72 5% + 1 units

AT L unils

Questlon ID : 5096471130
Status : Answerad
Chosen Option : 4

Q1 et FE) = ule ) + 060 ¥)) be an aralytical fanerion. 1fir = Gx4 2xy then v s equal to .whare r is 2 constanr,

8
A XL w2t gt B g

K2x2—y2—bxy+ec
Kax2+y2+bxy+c
Viyl—x*+5y+e¢

Question 1D : 5008471116
Status ; Answered
Chosen Option : 4

Q1
2

o
A cowplele solulion of partial dilFerential equalion% — 33" = (:—;) — ¥y willbe .where @ and & are arbitrary
COLSTALLE:

Ans X122 —ax?+byr+1
v2z—ar+x+ (S)[a+y)§+b
Xaz'h=x+a)l++hh
K4 z=(ax®+by?) /242

Question |1D : 5096471127
Status ; Answared
Chosen Option : 1

‘:-2 If the product of eigenvalues of matrix 4 = F E _21] is —8, then the value of K will be:
1 & 2
Ang o J1 3
<22
X3 2
<4 -3

I Question ID : 5096471134
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Status : Answersd
Chosen Optlon : 3

01.2 The value of [ cosec®x dx will be . where ¢ is an arbitrary constant.

Ans =) 2

W . = cot®xy — ;cotgx —cotx+c¢

X 2 —gin”x — 5sin®x — 3sinx — sinx + ¢
< 3 cosSx+ 3cosdx + cosx + ¢

X 4 cos%x —dcostx + 2cosix + ¢

Question ID ; 3096471128
Status : Answerad
Ghosen Option : 2

052 If f(Z) is an analytical function and (7, &) denotes the polar co-ordinates, then:

Ans du 1dv av —1 du
e S gl =
ar a8 ar r a8
ou —-14 a 19
ar r 08 ar T ag
du dv v du
o= —and— = P
ar a6 ar ae
du dv dv du
K4 — =r—and— = —1r—
ar a8 or a6

Question 1D ; 5096471111
Status : Answerad
Chosen Optlon : 1

Q2 value of $(5Z% — Z* + 2)dZ around unit circle |Z] = 1 will be:
Ans "1 |

X26

X3 1

w40

Question 1D ; 5098471117
Status | Answared
Chosen Option : 2

Q-2 What happens to the relativistic mass of a moving particle, when its velocity increases?
4

Ane o 1 increases

X~ 2

sometimes decreases and at other times increases, depending on the nature of the particles

/< 3. decreases very slowly

/< 4. decreases rapidly

Questlon |ID : 5086471084
Status : Answered
Chosen Option : 1

Q.2 In Fresnel's biprism experiment, if the distance between the slits is gradually increased, the fringe width in the
§ interforence fringe pattoin obtained will:
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Ans  oJ 1. decrease
& 2 increase
/< 3. remain unchanged

7 4. first increase and then decrease

Questlon ID : 5096471089
Status : Answered
Chogen Option : 2

QL2 The maznitude of the vecter reprasenting = praducl ol electric feil veclos, constitiling electromaenetic waves, has the
§ csome dimensions as that oft

Ans o 1. electromagnetic power density
& 2 electric current density
/< 3. electromagnetic energy density
/< 4. electric charge density

Cluestion 1D : 5096471081
Status : Answered
Chosen Optlon : 2

q’-z Bragg’s reflection by crystal in an X-ray beam CANNOT occur for a wavelength, if:

Ans of 1 5 =2d
X2 =d
X3 h<d
K4 j<=2d

Questlon ID : 5086471082
Status : Answered
Choszen Option : 1

('.162 Soft magnetic materials like iron and its alloys are used in the manufacture of:
Ans (1. permanent magnets

/< 2. magnets for the toys

/< 3. magnets used in measuring meters of current and voltage

o 4. cores of transformers employed in power generation

Question 1D ; 5096471110
Status : Answered
Chosen Optlon : 4

%‘2 In an inertial frame, a free particle:

Ans 3 1. is accelerated

& 2 is decelerated

o 3. moves with uniform velocity or is at rest

/< 4. is either accelerated or decelerated

Question 1D : 5086471103
Status : Answered
Chosen Optlon : 3



Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook

Testbook
Sticky Note
None set by Testbook

Testbook
Sticky Note
MigrationNone set by Testbook

Testbook
Sticky Note
Unmarked set by Testbook


('.163 The value of f #ZH? dx will be . where ¢ is an arbitrary constant.
Ans X1 x24+e +2logx+c

W2 x—loglx— 1|+ 4loglx—2| +¢

X3 x+e*+loglx+1|+c

K4a1+xlloglx+1|—e*+e

Chosen Option : 2

Questlon ID : 5096471132
Status : Answerad

01-3 Consider two subsets of R? given as, S; = {[L, —2].[3. 5]} and S, = {[1, 1], [0, O]}. Then.

Ans X 1. 8, Is not a basis for R? but S, is a basis for R2 .
& 2 peither S, nor S, are bases for R,
X 3 bothS, and S, are bases R?.

v 4. 5, isa basis for R? but S, is not a basis for R?

Chosen Optlon : 4

Question ID : 5096471135
Status ; Answered

Q3 1he standard ordered basis of B i3 {es,enr. Letl: R? 3 B? ke the linear transformation such that | reflects the
2

points thremgh the line x; = —x,  The standard matrix of T is:

s )
a5 o)
Kol )
Male 5

Chosen Option : 2

Question |ID : 5096471136
Status : Answersd

qs's Let(x,) and (y,) be real sequences and let forsome K €17, 0 <x, <y, forn = k.
Then, which of the following statements is true?

A 6L Divergence of 2, v, = Divergence of 2, X,

& 2 ¥ x, and )y are always divergent

~< 3 Convergence of LA, = Convergence of =V

W Convergence of 2, ¥, = Convergence of 2, 1,

Chosen Option : 3

Questlon |ID : 5096471120
Status : Answered

Qf For any two complex numbers £, and Z, , which of the following results is true?
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Aw X 2= &l =15l = &
X2 E - < 1Z] — 12
X2 2, + 2 < |12 — 1Z]]
Valg, + 2Pt [E—5LF=20L P+ 5P

Questlon ID : 5096471112
Status : Answered
Chogen Option : 4

Q3 E
Z

5 The value of fu
e
X 2

< 3.

X a

i £l 5
m dx will be:

ld MIE WId &[H

Question ID : 5008471131
Status : Anawered
Chosen Optlon : 4

Q.3 When a beam of ordinary light is passed threugh a caleite crystal, the lighr splits inte O-ray and C-rav inside the covstal,
g Whicholihe [lowing slazments is ire?

Ans X 1. Only O-ray is polarised
#< 2. Neither E-ray nor O-ray is polarised
& 3. Ouly E-ray is polarised
« 4. Both E-ray and O-ray are polarised

Question 1D : 5096471089
Status : Answered
Chosen Option : 3

Q.3 Tor what value of 4 do the sinmltansous equations 5 7y =2, 15x 1 21y = i have no sclution?
7

Ans x4 =0
Wz pu+—6
X3 u+0
Xapu=—6

Question ID : 5096471133
Status : Answered
Chogen Option : 2

Q.3 Two lines, A and B, of an 3orav bea give first arder reflection maxizwi at a glancing angls of 20° and third order
B reflection maximmm at an angle of K02 respeetively from the face of the same crystal. 1f the wavelength of line T is
0,058 i, then the wavelength of live & will be:

Ans of 1. 0.170 nm
& 2 0.056 nm
/< 3 0.126 nm
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& 4 0.092 nm

Question |ID : 5086471088
Status : Answered
Chosen Optlon : 3

Q3 The upprosimalion to arool of the equativn ™ +x — 1 — U [g the interval (0, 1) by applying method of false pusition
9 uvne lime, will be:

Ans o< 1. (.75
w205
X 3 0.25
X 4 0.65

Question 1D : 5086471139
Status : Answered
Chosen Optlon : 3

%‘4 For the curve xy® — yx3 = 6, the slope of the tangent line at the point (1, —1) is:

Ans x 1 1
¥

W2

X3 2

P

Question 1D : 5096471114
Status : Answered
Chosen Option : 3

01'4 Ify =x""t.Inx, then the n? order derivative of ¥ with respectto x at ¥ = i is!
Ans K13, [1]]

X2 2.+ 1Y
X3 3(n— 1).[n]
V42 [(n— 1))

Question ID : 5096471113
Status | Answersd
Chosen Option : 3

02.4 Ultrasonic waves, propagating through a medium, can be detected by:
Ans 3¢ 1. Light meter

/< 2. Quincke’s tube

/< 3. Envelope detector

o 4 Thermal detector

Question ID : 5096471098
Status : Answered
Chosen Option : 3

°3-4 An acceptable wave function y associated with a moving particle must be:

Ans o5 4, finite, single valued and discontinuous
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#< 2. finite, multiple valued and centinuous
& finite, single valued and continuous

#< 4. infinite, single valued and continuous

Question ID : 3096471086
Status : Answered
Chosen Optlon : 3

Q:‘ Which of the following statements is FALSE?
Ans ' 1.

1f a sequence X of real numbers converges to a real number and has two convergent subsequences X and X" whose

Limits are not egual, then X i= divergent.
o 2. A Cauchy sequence of real numbers is unbounded.

X< 3

If a sequeace {%,,} of real numbers converges to a r=al aumber % then any subsequence (-"-.-.,-;) of ¥, } also canverges

tox,

p

A bounded sequence of real numbers has a convergent subsequence.

Cluestion D : 5006471121
Status : Anawered
Chosen Optlon : 2

§

eryslal [tom above, we win tee

Ans o/ 1. one black dot rotating about the other staticnary dot

# 2. two stationary black dots
#< 3. one black dot only
# 4. two rotating black dots

G4 A calcite crvstal has been placed on a black dot on a piece of white sheet and then rotated. On locking though the calcite

Question ID : 3086471102
Status : Answered
Chosen Option : 1

Qs"' Dielectric losses may occur due to:

Ans X 1. conductivity

o 2. polarisation
X 3. radioactivity

< 4. jonisation

Question |ID : 5096471085
Status : Answersd
Chosen Optlon : 2

7

Ans o 1. Apelectron

75 2. A proton
/& 3. An alpha-particle
&< 4 A neutron

Q.4 Which of the following particles in motion. having same kinetic energy has the longest wavelength?
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Question |ID ;: 3096471083
Status : Answered
Chosen Option : 1

QL4 A dillmetion patlen due Lo single slivlas been oblaloed asing g beam of red light, O replacing e red light by violed lighl, he
8

Ans 5 1. diffraction bands disappear
o 2 diffraction bands become narrower and crowd together
# 3. no change occurs in the diffraction pattern

< 4. diffraction bands become broader

Cluestion D : 5096471084
Status : Answerad
Chosen Optlon : 2

Q;‘ For the data.

I

x 0
fG): 8
the value of f;“ [F(x)]* dx by Trapezoidal rule will be:
Ans X 1. 92
V2 75

X2 123
X4 42

L

]

Questlon ID : 5096471138
Status : Answered
Chosen Option : 3

Q.5 Tic relative pormeability of 2 meterial A b= slightly moce than unity while that of a material B is slightly lezs than vaity.
g Which of the follewing starzments relating to the materials A and B 15 corvect?

Ans 1. Material A is diamagnetic and B paramagnetic.
/< 2. Both the materials A and B are ferromagnetic.
/< 3 Both the materials A and B are paramagnetic.

o 4 Material A is paramagnetic and B diamagnetic.

Cluestion 1D : 5006471108
Status ; Anawered
Chosen Optlon : 1

Q.5 Which ot the tollowing phenomena CANNOT couvert ordinary, unpolarised light to a pactially polarised or place
1 polarised light?

Ans 1. Scattering
#< 2. Double refraction
#< 3. Reflection
W a Diffraction

Question 1D : 5096471100
Status : Answered
Chosen Optlon : 3
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CLE Tnclootromagnctic waves. Toaynring veotor representing the flow of electromagnetic cneray perunit ares per nnit ime
2 aerass the houndary i3 reprasentad hy:

Ae X 1. E/H

X2 E/B
X3 ExB
V4 ExH
Question ID : 5096471101
Status : Answerad
Chosen Option : 3
Qs 2
3 52y e s sE ' :
x (ﬁx) = (z Yo A partial differential equation of:

Ans 5 1. first order and first degree
# 2. second order and second degree
o 3. first order and second degree

#< 4. second order and first degree

Question ID : 5096471126
Status : Answerad
Chogen Option : 3

Qf The set M of natural numbers is:

Ans X' 1. unbounded below in R

& 2. bounded above in R

v 2 unbounded above in R

& 4. bounded above and bounded below in R

Question 1D ; 5096471119
Status : Answersd
Chosen Optlon : 3

°5'5 An accelerated electric charge produces:

Ans 3¢ 1, neither an electric field nor the magnetic field
/< 2. magnetic field only

< 3. electric field only

« 4. both electric and magnetic fields

Question D : 5096471081
Status : Answered
Chosen Optlon : 4

Q5 The volume of he solid vbiained by revolving the region bounded by the curve v — x — 2% and the x uxis will be:
Ans .
X1

X 2 = cubic units

cubic units

" &1 % cubic units
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T o =
/< 4. — cubic units
25

Question D : 5006471128
Status ;: Answersd
Chosen Option : 1

q’.s The interval of convergence of the series },77_ AT
Ans SC1 R—[-1,1]

X2 [-1,1]

V-1

X< 4 F— {0}

Question ID : 5098471123
Status : Answered
Chosen Optlon : 4

Qé-ﬁ If f(x) = x?, then the second order divided difference for the points x,, x;, X, Will be:

e 1
-1

xz X1 = Xg
W |
x4_#

Xz — &1

Guestion 1D : 5096471137
Status : Answered
Chosen Option : 2

Q.8 Interfersnce effzets are posaible dus to superposition of two or mote waves in a certain region of space in case of:

3
Ans o 1. both transverse and longitudinal waves

< 2. longitudinal waves only

x 3. fransverse waves 0111}’

< 4

neither transverse waves nor a combination of transverse and longitudinal waves

Question |ID ;: 3096471087
Status : Answerad
GChosen Option : 2

Q86 The volume of the solid bounded by the surface x =0,y =0, x+y+z=1 andz =0 will be:
0

Ans 1: 4 Z
v - cubic units
2 i .
” 2 7 cubic units
s ; .
< 3 - cubic units
1 . .
< 4 5 cubic units
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Question D ; 5096471115
Status : Answered
Chosen Option : 2
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